
1,178,784
=

', (132.479 + 161,456)

= 8.02 &eii

365

= 8.02

= 45.51

53 46 ?'u

AC 409



B~%~N?J& (aging schedule)

90 AC 409



31 - 60 34,197 2r 1 - ?O 54

61
*,

- 90 Y7,lGO 21 31 -60 au

365 %I

= &mns%?yuuoaJn1

981,204
=

5 (272,512 + 266,467)

AC 409



365-
= 3.6

= 101 %J

= 3.3 n;isil

92 AC 409



= 3.66 (1&h

=

il 2539 =
1,178,784

855,930

264 ?‘um 1 5m.l

AC 409 93



94 ’ AC 409



, .
v Nih.6 Rfl”6iL f!J1WIDU6JflJ0 NaPlouunU~on?Uuo~~~ioy;

1 0 % (r;ouH’nma)

1 0 0 2 0 2 0 %

80 20 2 1 8 22.5 %

50 50 5 1 5 30 %

* 2 0 30 8 12 6 0 %

1 0 90 9 1 1 110 %

A C 4 0 9 9 5



370,738

= 886,015

= 0.42

939 =

=

it38 =

=

370,738

515,277

0.72

325.074

500,770

0.65

96 AC 409L



370,738

=  8 8 6 , 0 1 5

= 0 . 4 2

iI 190,460 25,438+ + 1,21139 =

190,460  + 25,438 + 1,211 + 515,277

217,109

=  7 3 2 , 3 8 6

A C  409 97



36,006 + 21,816
=-

21.816

= 2.65 WI

98 AC 409
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197,580

= lJ78.784

= 0.17

= 17%

n'IbqnS

= u0mJ1fJplf

25,204

= 1.178.784

= 0.021

= 2.1 0

1 0 0 AC 409



uommqnS  - &vpl1u  - Xl%&UIW"l'l6lrihwl
=

uomiuqnt

1J78.784  - 981,204 - 128,340 - 3,239
=

1,178,784

45,001

= 1,178,784

=  0 . 3 8

=  3 . 8 %

AC 409 101



Y4.2  m’ (Return on Assets)

252Q4
=

; (825,844 + 886.015)

= 0.029 = 2.9 %

102 AC 409



25,204 + 21,816 (1 - 0.3)
=

5 (825,844 + 886,015)

40,475

= ass.930

= 0.047 = 4.7 8

(Return on Stockholder’s Equity)

AC 409 103



25,204 - 4,797
=

; (399,770 + 414,277)

20,407

= 4 0 7 , 0 2 4

=  0 . 0 5 =  5 %

I

!Dl~6lMlWM&d~  (Trading on Equity).

104 .AC  4 0 9



rwlc;  100,ooo x 15% = 15,000 u7n

100.000  uw

10,ooo

10,ooo

30,ooo

AC 409 105



400

= 4o.ooo
=  1 %

106 AC409



AC 409 1 0 7



diG*r;pl( E a r n i n g  p e r  S h a r e )

20.407,ooo=
1 l,wo,ooo

= 1.73 lml

108 AC 409



%A I1uauy; IA4QU

1 tlLu.39 loo,ooo 3

1 vl.n. 39 140,000 6

31 Ml.39 150,cmo -3

12

AC409

1.590400
=

12 .

109



fhhqnio;oy; 500,ooo  - 100,ooo
=

132,500

fh~~~Vl&&&lPW%J~  (Fully diluted earning per share)

110

r

AC 409

2


